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COMMERCE ' :
Costmg Methods & Techmques
‘ © " Paper-II -
(RepeaterfRegular)
Time : 3Hours o o Max’imquarks:SO-

Instmctmns to Candzdates

E 1_)", - Attempt qumtlons accordmg to the internal chonce in each section.
) R T, 80dpoTd ;bzgaﬁd ©03808 Boi)ﬁmmdmn weR, JZnen W@ﬁn@
| '_'2)' - Working notes must I_Je‘ given wherever necessary.
T um3and 98 MDEnYR) Len. -
3) Use Non-ngrammahle Calculators only. _
. ma‘ wiae emo 'ad mmﬁea&dﬁo eOTodReNT ™ 503403,

SECTION-A
| - : uRn - o _ L :
- Answer any Ten of the following: ' S o (10%2=20)

AN-DIn S a‘:':!t! eméafoa
1. a) What is retension money ?
| oOoRERORIE Bo SOTTED 7
'b)  What do. yeu mean by unit method of costing ?
o P a?z;a‘ a'ddé D0TTeD 7 -
c) -"What is- preccss costing ? : ' ' :
e wos 3323 azaroda zdzsa D0TBET> ?
o) ',Define margmal costmg L
T eouR SER w2, eRd. | .
e) _.What is by product ? Give. two examples. '
- oom- TUBR 0T3TeRD 7 0@ SUTRBOBATY ﬂ:aaa
f)  Name any 4. undertaking where operating costmg applles
L B g, drerod WEdeh SREEIS B 4 cuREonv) BR0R0.
g) State 4 reasons for dlsagrcement in cost & ﬁnanclal proﬁts
. =3, e mr{ra asaﬁ'am @k‘ﬁﬁ@é cﬁazpﬁ@é@ éraoa'asé@ sﬁmdowdi’ 4 ﬁadsari@m
é@d@

[PT.O.
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W)  What is BEP. 7

NPT, WOL mzﬁdem ?
i) Wnte 2 features: of Job costing.
& rH3Rcdd S0 @isaﬁ@;fﬁa &9R0.
j)  What is running cost -7
w33 ﬁzs Q0T 7. L
k) What do you mean by cost per passenger kms ?
v wé woimjﬁd 3B peaes3T” T 208D ?

1)  What is appropnanon of profit-?
. : oaa; ﬁozsé 258 0BT ?

SECTION—B
o oot - W , . ,
Answer any three. of the following: I - (3%5=15) KR

ﬁﬁ?ﬁﬁ&@ﬁ@é@ e mo@ eVZORD.

Distinguish between process & _]Ob costing.

SOTTI oz g, ot 1A méﬁ 330 woédﬁ#sﬂa &920. .

Vmay “Transport Company operates 5 buses. between Hubli & Belagav1 The
distance between Hubli & Belagavi is about 100 kms. The capamty of each bus
is 50 passengers. But on an average the bus runs 20% empty. All the buses run
on all days. of the month November. Each bus makes two round tnps ¢ach day '
Calculate total passenger Km.

DD O BoTICLW, WS, 3) WD S 5 2RINTIY WRROZVT. o—cbw@

. BB Wrmeans e036 100 3. é’,)ae wé 2R 50 3, 03506380 "?mzs £ émocad:a‘d eﬁdd'
_ uz‘o pilenrile) Sai e.ocxmséﬁd ‘?mtﬁ FCS 20% oodHodon ’a&foéc’i QY unoﬁﬁa 559&05‘ '

3071@‘5 INGDY C:)ﬁﬁq;f@ m:béd 3 w:o aaoas QT3> noéo wcdma airaz:b@}zﬁ m.so'

=,0050£3800 o, CRENRT TROSZY, édmeé:)oe&c‘mf@ om> ao@o’)ao )
From the followmg prepare cost—sheet & show cost per umt & proﬁt for the

. period. o

- Raw materials consumed _ Rs.1,70,000
Direct wages . - ~ Rs.1,50,000
Machine Hours worked . - 2500 hrs
Machine Hour rate -+ Rs32

Office overhead 15% of. works cost -

‘Selling ‘overhead Rs:10 per unit

Unit  produced - 14000

- Units sold 13000 @ RsS(}
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FHNS T30 esqmcscs Soeed 5523, wwodaab 3odR0%. B,803R080 mm zﬂeﬁo&:«&
[OTER 20, CTIY 5035330@0306 o
SUBC3RENRT Ezaaw mgﬁe; 3%, T ©R.1,70,000

200  ge.1i50,000
008, WHRG k), CIVDETD 2500 Rotdrish.
B3 codus o . . TR32

éc&@miﬁ Soedy, TarS I 15% O,

SRoET 3, B S .10

GOTORE i, CIOREFE> 14000
l_.mo—aaaasacs whd), C3ORETE 13000 @ TR.50

5.. From the followmg information, Calculate the amount of proﬁt to be transferred to
. profit & loss account in case of contract accounting.’
_National profit Rs.3,00,000

Value of work certified o Rs.14,00,000_
" Contract price o Rs.20,00,000

Contractee pays 80% of work certified. :

B 3903 mRkich omod S8 o), wa:’uasad R em;i s, st
WrRE CRLITITOT eiﬁaa%a _ :

wups o ‘ | dja.3,00,000 '

| banoRoR foRd @Ry, . 00.14,00,000
B rbéﬁocb z:'fes . ©ei20,00,000

Bdesthy desro 80% T, BT, éwmoéa 30’% Ss‘a ‘?53 m:zasaﬁ
6. From the following pamculars calculate
‘' (a) P/V Ratio
. (b) Fixed cost
I year sales Rs.3,90,000 proﬁt Rs.18, 000

II year sales Rs.4,50,000 profit Rs.30,000
| 81 NS ST soaa:aoaooja.
(a) ooy, [RTWT STOTB

(b) &3 =1,

Seesod S SRos 8R.3,90,000 ©o de.l8, 000
SOESCH [HE: RO TR.4,50,000 © C.30,000

[PT.O.
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| SECTIONC
Answer any two of the followmg Lo - _ 2 | (2x15~3(;)
demd adaiﬁ GVBORD. - ‘ DU Sl

7. A product passes through two processes nameiy process A and B & then to ﬁmshed
stock. The details of each process ‘are as follows: '

. : A B
Input (10000 units atRs. 50 per umt) AU 5,00,006 -
Sundry materials (Rs.) - LT 40,000 . 60,000
Wages (Rs.) | SRR RFT 020,000 . 32,000
Expenses (Rs.) S S 05000 ;5500
Actual output (units) - : 9300 8,500
Normal loss (% of input) o 8% 5%
Scrap value per unit (Rs.) AR SRR O

Prepare process Accounts & Abnormal loss Accounts
20D qu =W A NV B o0z ~o~dsa so:érﬂ@ocs 30;‘.‘13363?\ zSoSﬁ q;aa *as‘ﬁ
- BRI, eg,aodmccsa Non.dsa ea‘oéd é)a’d qoéc‘)’ ' :

A B
Roxoead, EDe@cb(lOOOO omawma draSO odné’ow‘ﬁ) 50‘0 000 - - -
=30 508 @.) I 40,000 60,000
0 (@) 20,000 32,000
w80 S (@) .. 5000 - 5500
BT, eoBns (w»zawzwo,) e 0093000 8,500
AR, 3"‘ (depsod oes) T 5% %
roxd 3 (wé oﬂwawﬁ) (on.) BT L R '2_..'._' T -5-_ =

- RoRDE a:aéris’ab ab& e;a*?ama &:‘aza ara:a’mﬂ‘& Sodnofoo
8. VRL Transpott Company operates 2 buses between Hubll & S1rs1 The detaﬂs for the E
month of December 2021 is as follows : . ;
Distance between 2 cities 100 kms
Capacity of each bus 40 seats S
Round trip covered daily 2 by each bus
Occupancy for onward trip 80%
Cost of each bus Rs.7,50,000
Depreciation @20% p.a. each
Salary of two drivers Rs.5,000 p.m. each
Salary of two conductors Rs.4,000 p. m_cach
For return trip seat unoccupied 30%
Repairs 80% of the depreciation of each bus
Tyres & Tubes Rs.50 per- 1(}0 kms. '
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~ Diesel etc Rs.30 per 20 kms ~ ° | '
"Commission 25% of the total cost.

Road tax Rs.7.500 p.m. each bus
Insurance Rs.2,500 p.m. each bus

Prepare opuatmg cost-sheet & find cost per. passenger kms.
JRARS SN é?ﬁ‘agja@ﬁr FoTodw mu@o&aod 50a =31 2 unomﬁm L&ahoad
_ BBt 2021 © é& Li=Taty amaoeodm ?.qcs‘ﬁrud
- UE> [NONY abzﬁ T 3038 100 $.20. ﬁ%”o
Newm_‘?mc;d_ £ 40 SRINE
D803 RoUoAT Ty B3 WD 2 A3
RS T E 80%
B3 WA BT Tr.7,50,000
X538 Cﬁd T8 wan 20% p.a. .
BRI 1RuTs aﬁe:é’s leviCialsly gr.s, 000 : e donsh.
' tawda &eﬁcfmﬁ aﬁeés éoirubﬁ c».4,000 &8 Sorib. .
acfoh WA AR ReEONY ~033 30% '
_ a’od?u %8 AT $3g9cs 80% dmb
. &55‘ *?,ma mwﬂeﬁ VXD wé 100 3.20.°% dn.50
‘a*c:’f B 3 20 8.00.7 30 T
-ﬁ&l)waﬁ Lk, 63?323’ 25% de@ '
SenFa- 3@ﬁ m mn;ﬁ oh. 7300
0 /3 WAl T3 30'1\#:: 82.2500
rlery Noﬁob ﬁzs w&é’odaab FedRoROT &8 wodnséﬁd 5303 a"?s 505330@0&3@
9. Prepare a statement of RBCOHCIII&HOH from the followmg data

a. Net profit as per costing ‘ : - 3,00,000
b. Works overhead in costing S ‘ 51,000

¢ Works overhead in financial account ' 42,000
d. Income tax paid in financial account 90,000
‘e.  Value of closing stock in costing ST 28,000
f.  Value of closing stock in financial account 31,000
g. Provision for doubtful debts - ' © 30,000
h. Dividend on Investment " _ 6,000
i.  Preliminary cxpenses written off ' - 13,000
j.  Store adjustment credited in financial account 1,500
k. Share Transfer fees credited s 6,000
.~ Depreciation as ‘per cost account - ' 10,000
m, Depreciation as per financial account : © 17,000
n

Loss on sale of assets shown in financial account 12,000

s

(PTO.
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83 39N [R&HIC0T ISIOD 58,5030, eod:ae,qe. AT
3, €88 B30 ooy - 3,00,000

. a,
. -aSas eecs SoSBITRY, asmedzsa _' 51000
¢ Beowons ST, eIy ammzso SR 42,000
cod Bowas dide?ﬂ 575003 3on o - . 90,000
e Y I8 TIO ©0dkd WY . - 28,000 .
. Beowoas SB0 Twes 0dd By . - 31,000
g  ROBCINIE. *ae;zﬁ W R 30,000
ho W, eaae o80T BT SeOT eamoes mem@ee 6,000 -
TR, S, sBIRREICNS. T 13,000
j . Beetons de’z:i@ DOmRD BROTIE ese == eﬁﬁd 1,500 -
k  ®comad eied@ Fedd ﬁmraﬁ% abe; um S 6,000
L s, Sn, Resee BT o - 10,000
M EEEAS SInY, O : : 17,0000
"o ey HROOHT BORCRY, BEITIRS eecse 2neoRennd - 12,000

."'10. Vishal Bullders Ltd have taken a contract in 2021. The value of the: contract 8-
© Rs.12,50,000. They began the work on 1st January 2021. The. followmg are the
_detatls for ‘the year endmg 3lst December 2021. '

Materials purchased i o ' -~ 5,00,000
~ Wages paid’ . o ST ~1,40,000.
- Direct expenditure paid R . - 25,000
Sub contract cost - - . _ S 12,500 ¢
Plant purchased o o - 4,00,000°
Materials returned to stores. R 7 50,000 -
Materials lost by fire & sold (costing Rs. 25 OOO) _ 20,000 -
Plant sold on 1/7/2021 (costing Rs.50,000) ' 55,0000 - -
~ Materials at site on 31/12/2021 R < © 75000 .
Work certified = - . S - 10,00,000
Cost of work uncertified - ' B 1,000,000
Rate of depreciation © . . 10% p.a. .
Retention money ' R 10%
Wages accrued ' o | 10, 000 '

- Prepare contract account ‘
NJO TRB DBREED XOL 2021 3 de. 12 50 000 6 eaa‘nmaodoaﬁo #ﬁeﬁmc@d eﬁzcb

S -ﬂmmeom 20213 usase Retedon aecsocsa 2, 00RXTRT. e: dons amaoaom o

31 @Nomd 2021‘8 ;u‘ouo@,qzs

_i




11. -
Particulars.

 Direct miterials (2kgs)
' Direct materials (3kgs)

© Direct wages per unit .

WEENALEEE 0 O

| Sne Dowe
800

B B,

- 0T WRoT a3,

o008, eBTEINY . DD |

s Wom RdBTd
‘23080&3013 ToVT3 dn\)ﬁ%’ ESJDUQ&& (?.36 gr.25 UOO)'-

ovele T[RoE 1/7/2021 (36 8.50,000)

,aﬁeééde‘)cbd 50853 dﬁ)rﬁ:b 31/12/2021

é'_rJ@f-JfJéS o3 55 525

 amaoRows foRe B,
| Revecd WO T8 IRE
f em%ﬂraozs Beo
Tous a?eéﬁ -
s asaa"ojbab acmaa,ga

SECTION—D
.',)z;:ari - a}

- Case study (Compulsory Questlon)

ﬁmod:é

The followmg detalls relate to the manufacture of two products M & N.
| Product M

.. Sellmg price per unit. |
. Variable overheads 100% of direct wages o
~ Fixed cost Rs. 1 40 000 '

- 36623/F230

on.

| 5.00,000

1,40,000

25,000

12,500.

4,00,000

50,000
20,000
55,000 -

75,000
10,00,000

1,00,000

10% p.a.

10%

10,000

14

4
30

(1x15=15)

Product N

21
40

[PTO.
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| a) "Calculate P/V ratio of each product
b) . State which product is preferable if material is in short supply.
¢) State which of the following sales mix will you recommend & why ?

Particulars ) 7 , M(units} = - N(units)
- Sales Mix - I ' ' . , _14 000 . 6,000
Sales Mix - II : ' 10,000 - 10,000
‘Sales Mix - IT. S 8,000 12,000
M do@a N emaadz&ri@ﬁ NOUC‘@Nd RRkd FINT08T. ' TR
Feinto BN . o Product M Product N
eg k‘dﬁaﬁ%_(%.zﬂ.). ' o 4 -
S0 XoBorisd (38.23.) R - 2t
360 80 T8 CtRER o : .4 4
RInoous ¥S B3 S0IFR 30 40

WTTORE eﬁr{m ﬁzﬁj@ﬁo JeT BRdoD éest:éra 100 &3 S 8R.1,40, 000
2) H30Ieomy FWAT ooy WRoT OROT3 ﬁoceb&oao:oa
b) TR, MTONTW c.gad 3 gasbhoinmen 0n® R0 BRI 7

o) = %e:na CdRES WRTHE QT35 é—admo dmszeea ? '

owg | M(C3oREFReE) N(o:ina&s‘ﬂdq) |
Smoots 20860 - [ . 14,000 6,000
Snoows Q0B - 1. o 10,000 10,000

spoows wge - MM o 8,000 - 12,000
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VI Semester B.Com.3. Degree Exammatmn, September/October 2022
| COMPUTER APPLICATION IN BUSINESS - V

(Regular)

Time:3Hours ..~ - . o o - Maximum Marks : 80 -
Instructions to Candidates : 1. AII sections are campulsory subject to Internal choices. |
2. - Section - D is compulsory.

R R N A

| * SECTION-A : -
© Answerany Ten questlons Each question carries Tweo marks R o (10><2=20) ‘
~ DefineJ oumal o |
_‘ Whatis smgle entry system‘?
What is sundry debitor?. -
* Whatisthe functxon key to actwate Tally configure" _ |
Defing group in TaIly o o '
. What do you mean by sales order'? N
‘Mention any two inventory vouchers used in Tally
Define Rat10 analysis. .
‘Mention any four reports in Tally
10. Expand DVIand PDF.
11 What is Image processmg? |
12. Giveany twoexamples of video players. .
‘SECTION-B. N 3
' Answer any Three questmns anh carries Five marks . - o (-3XS=15) '

) 7' 13. Mention the merlts of accountlng

14. Explain any five pre - deﬁned accounting voucher Iypes m Tally
15, Write the steps to create and delete the ledger

16. Explain different types of Reéports in Tally.

17. W_hat-is printer? Explain impact and non - impact printers.

{PTO.




18.
19.
20.
21.

22.

A U T

WEREENGEEERT 00000 @ e 36625/F250

SECTI()N C
Answer any Two qucstlons Each carries Fifteen marks. : (2x15=30)
Write the steps to create a company'in Tally with various fields. ' |
Distinguish beuveen-manual and corﬁputerised AlS. |
Discuss in detail the different input devié_es.
Write short notes on.
a. Elementsof CAIS.

b.  Final accounts. .

~ ¢.- Animations.

. SECTION-D |
Compulsory question (CaseStudy) - - | (1x15=15)
Journalise the following transactions in tabular form to identify groups Iedgers and vouchers.
1. Mr. Milind has started business with Rs. 8,00,000/-.
Cash deposited into. bank Rs. 1,00,000/-.
Purchased land worth Rs. 2,50,000/-
Sold goods to smita Rs.30,000/-.
Loan given to sachi Rs. 25,000/-,
Receiv_éd_ cash from smita Rs. 20,000/-.
Paid electricity bill Rs. 3,500/-. |
Brought machinery worth Rs, 52,000/-.

- Withdraw cash for personal use Rs. 5,500/-.
Paid factory rent Rs. 15,000/-.

e
&
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Reg. No. l_
© WI Semester B.Com. 3 Degree Examination, Segﬁézzzberl_@ctober - 2022
Modern Auditing and Practices
' Paper-§

(Regular/Repeaters)

Time : 3 Hours o ' ‘Maximum Marks : 86
- Instructions fo Candidates: '

D) Attem pt All the Sections according to internal choice.
2030y wolf weEl), ooy, Qyenner wIord.
2)  Section-D is compulsory. '
RN - @ B0 oI sEI0ITRNT.

_ SECTION-A -
_ B Qgan - © _ .
Answer any Ten of the following. 7 ' - {(10%2=20)

BINSHNYY, Be5o3 BR) IR GUIORO.
1. a) What is Auditing ? |
| S3TORRES Do 7
b) What is continuous Audit ?
Q003 JE0TERN om0 ?
¢) Whatis Fraud 72
#0233 omdesd ?
d) What is internal check ?
| 50308 TI0T F0BSRD 7
) State two qualities of good Auditor.
| ooz JgodeeEs OB RS, Beo.
'f)  What is voucher ? |
| TR3 0TTe 2
[PT.O.
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_ g) What are Audlt files ?
' eiﬁwaairaecsa’ab n%cnﬁes& ER020.
h)  What is audit programme ?
JERORHR FoCKF D T3, 0T 7

i)  What is test checking ?

TR 08ReNE BRR SOTSED ?
j) . What is clean feiaort 2

| Wo800 WO S0TTeD ?
k) What is investigation 7

3035 0EdeRd ?
" I). Expand : (i} ICAI (i) FCA
. %00 : (i) ICAI (i) FCA

SECTION-B -
_ . omn - w ‘ |
- Answer any Three of the following: . _ - (3x5=15)

Yoo et ZIAeR eugono.

2. Explain the advantages of Auditing. -
 SEHOBREI0 CopnvR) DSORO.

3. Explain the nghts of a Auditor. |
cﬁ‘ﬁwbﬁmeqﬂéﬁ BEONTY, WTOAD.

4. How do you vouch sales ?

| Snows o8- §,@eEcn 200,

5. Explain the features of audit report.
ds&mmezséod: JTOOD VTNV, &ES0RD.

6. Distinguish between internal airdit and external audit. ,
0308 SHROREGS oy W, SITHORRTINY T I]RNTRY DOR0.
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© 10,

H.

SECTION-C
- Dyt - ¥ _
Answer any Two of the following: | (2x15=30)

Pend oty wﬁh’@ﬁ wéﬁ,—qﬁ

Define auditing. Explain the Ob_]CCthSS of Audit.

JE@odpegison maﬂ 2na0. dﬁwoairaeqﬁcm wdesmﬁm amao :

Who is auditor ? Explain the professwnal-and general qualities of an good auditor.
SEHOBRET S0TGeD ? SHTORRCTER Faab Sody AR, TOBRVE) HRORD.
How- do you verify the following:

FINTIeRy Bert TOLEORIDD,

a) Dobtors
Xa®NaTT)

b) Furnitures
2BRETTOLANTD

¢) Investments

BoRgi |
What is unqualified report ? Draft the specﬁnen of unqualiﬁed audit report. . |
DTS OO 20TBeD> 7 53 eBHOKT [ m;sabm 820,
SECTION-D
| o - @
Case study (Compulsory) . - (1x15=15)

 ®,5080 g0 (FE0NENG).

The following transactions were wrongly recorded i in the ABC Co. Ltd. Belagav1

a) Cash purchase Rs.52, 000 has not been recorded in cash book.

b) Credit sales of Rs.30,000 wrongly recorded of Rs.3,000 to customer account.
c) Rs.12,000 stationery expenses paid i is recorded in salaxy book ’
d) Purchase of machinery worth Rs.1 OO 000 is recorded as. purchase of goods

e) Sale of goods on credit Rs.5 600 was wntten as Rs@SOO to the debnt of

: customer account.

[PT.O.
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Vi Semester B. Com Degree Examination September/()ctober 2022

Reg No.

GOODS & SERVICES TAX - IT
Paper - II
(Repeater/Regular)

Time : 3 Hours _ . o o | S Maximum_Ma'fks:_S(')._
-Instructmns to Candtdates ' . L

I) | Answer all the questlons accordmg to the internal choice.
- 90308 sodnmrdnmh 99, B3 ner UD§8~@

2) Question No.11 case study is compulsory.
N %8 11 B50ew tﬂqﬁdodjﬁ B1E CAETINGS.

3) Simple Calculators are allowed.

X0¢ ResBe03, CUTAREnY.
SECTION-A
wyhn - @
Answer any Ten of the following. ' | (10%2=20)

e B¢ ©03020.

1. .‘ a)

B

<) "

- d)

Define Revenue Neutral Rate.

| mob 287, T8 20w ?

- What is non-taxable supply ?

301 C&E WRGE womTerd 7
Who is supplier ? -
FPY BT 20TG IRTY 7,

What is open market value ?

B3 Fncres, TP, STt 9

Define Recipient.
2,80RTR3 To.83, ERG.
& . ; 473

[P.TO.
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f)  State the-difference. --betWeer;l.debit note & credit note ?
Dor BT I wWRP [ 5,;3%35% 3920.
g) What is supplementory tax invoice 7 _
08 SoR AowE, S0B0ED 70
h) What 1s .bill of supply ?
. gD 23:3_ e, 000eD 2
D) What is refund under GST ? |
‘ . zﬂ .83, o, =T DS aoddem ?
i) State the documents required for refund on account of export of goods.
"‘tﬁﬁoﬁ# d@ 33030308, abcb PRI ONIET TRDINFIY SFR0.
"k) What is electromg_credlt ledger ? '
o T 30 0 SOTIED 7
) 'Menndn the modes of Vpayment in GST ?
| o sy e oDy, ao RomRoD SR DR, 39A0.

' - ' SECTION—B - : o S N
&”’%P?Jri - W
Answer any Three of the following S . (335=15')_'

Bezors asmd% GUZOAD.
2. Explain the factors determining Revenue Neutral ratés
e:smo:b @Sasﬁ z:idf? w'zpad 2eToR eﬁoeﬁmfm aﬁma
| 3.- What are the features of payment process in GST payable ‘? '

23.0%°. 83, o:b —aﬁa a:iaoiooi) Uﬁs@ﬁ#zd: a@ﬂa

4, Explam the dlﬁ"erence between tax inivoice & bill of supply

.3ont 230 g, K TpgFoDd 3¢ o aﬂaamc;m 2920,
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-2)  Export of goods or services under claim of ;ebate.

. State any five features & situations ,inr which refund would arise.

ajacb*aaé SRchHeN 9tis DT RomF nyeRE) 7

M. Prasanna is an-air Uavel agent, From the following mfonnation compute the value

of supply of services and GST @ 18%

Particulars : ' ‘Basic fare
'2) Domestic Travel 6 50,000
b International Travel S | 15 00, 000
3¢ B3 OB0O IRPRIRR oeiotanmd. 8 39n R SREIcH esqsadd Boeed

5300 BQRTI- m@ﬁﬁ@ aﬁae AT a”e 186 ﬁdcﬁe’) 28.00%°. 88,0003, ﬁocéo&:aoaaa

oRcnsd } . Swed B8
a) Tedod WEom - : . 16,50,000
b) eoa’oa%eoda TR e 15,(}0,000
SECTION-C
ot - 8 |
Ansﬁér‘any_Two of the follﬁwiﬁg. . : | | (2x15=30)

Seeos 0@ TI UI0O.

Explain the types of returns ?

DO TEONG O FTIVRY DBORD.

. Explain the GST tax structure ?

23T 68 CedNodd cﬂdﬁaﬂg; oRORO.

' Wr1te a short note,

1) Refund in case of prov151ona1 assessment

[P.T.O.
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Co0.

3) Time limit for filing refund clalm

3 ﬁeéi’\:d@ﬁ@ﬁ s woowo. _ e

1) @@@ﬁ aﬁ?’@ mws aﬂ:d:*ossa

2) d@ UDSESH@J @qﬁm Zessns t‘i@oda@ﬁ 563 =00,

3y oss Tehes SRITEOR 50008,

The followmg goods & services brodl_red by Prakash Ltd. in the month of April

- 2022,

- a). .Sales promotion Sewioes_Rs.S0,000

b)" Goods given as gift R564 000

" ¢)  Packing mate'nals used in a factory Rs.20,000

d) Goods destroyed due 10 natural calamaues RS30 000

o). Goods used for- captlvo consumptlon Rs.25,000

If)' Paper for photo copying machine- used in ofﬁce Rs.6, 000

- “g) Ou_tdoor catermg servwes prov1ded to “the employees Rs.455000-

hy __Goods purchased without invoice: ‘Rs.40,000

| i) " Goods used 'in the .construotlon of ofﬁce bulldmg Rs.60,000 from the above

. information.

1) Compute ‘total amount of input tax “credit avaﬂable_. N

2)_ coxmnent on admxssable & 1n-adm1591ble ITC items.

© 2022 &, oF ZOTYY, mmzs @mscae dascb wcécbé.raozz 208 a-,m ~e$ﬁ%‘a N cemm@

’&d&éd

a) wRosk Tuwos A 5.50,000
by SOTREEERA ReBT Ragoned 3n.64, 000

e Easjas'zﬁoije‘_l -mfocﬁ ﬁomﬁwaﬁ BN tifa20 000
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11.

d) Fanee oeaEneon wweR sogartd> 630,000

e) wodd weER evmodnenas Ndme;b 8r.25,000
)  ers ﬁ&)eaoi)d) c,g;aea:'u‘.ra ﬁﬁm c3o03, mﬁ WFRT Earid OR.6, 000

g) - wem, VNPT emcimdeﬂﬁ%ﬁ Derdend wwon Fesned dra.45,00-0

h)  ®OD T v 0oedAT RosId €e.40,000

) SCIRFOME BBE SRR WIRLE [P 5r.60,000
Bo6O FRbIODLT -

1) mzsm@? For wd Beosw 283, mesassa ﬁo@a&@owa

3

1) o %) N@@m?ﬁ@d BT sor oah sy i aawr a0,

- SECTION-D
az;mri - e

Case Study (Compﬁlsory) | PR - (Ax15=15)

&,3009 eﬂd odars (Emoﬁo wé)

X Ltd of V]apur sold a product to 'Y’ Lid Mysore for Rs.7,67,000 (mcludmg 18%

'GST) The above selling pr1ce is not included the followmg

1) Durable & retumable packing cost Rs.60,000
2) Normal & secondary packing cost Rs.70,000
3} Cost of special packing Rs.40,000 -

4) Frieght c_harges. ,Rs.lS,OCO |

5) Insurance charges Rs.45 000

- 6) Advemsement charges Rs.60, 000

7). _ Demgu & engmeermg charges Rs.80, 000
8) Publicity expenses Rs.25 000 :
9)  Subsidy received .from third party Rs.50,000

[P.T.O.
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10) Free samples Rs. 35 000 )
' 11) Commmsmn pald to agent by recmptmn mstructlon of supplier Rs.20, 000
' 12) Trade dlscount (Normal Pracuce) Rs.15, ooo
Compute
a) Transactlon value
' ) Amount of GST payable
o c) Comment ot IGST

. X @maszs‘ DD S "Y' @ébazﬁzs‘ a’i:mracb son 18% .07 88, OO wdrteosed. |
R 7,67,000/- RooEs B 20w mmm Spoots HRRmRS. WRONS BS &
FINFINIRY, LIEOBTROY,

oy SRR asa:ab &ommmﬁmﬁd}aﬁ Rotd sm;asoda 5%, mso 000
2) mmnR, R asEqs oot ﬁow smas aﬂzﬁ 4.70,000
3) wm ﬁow masosa 33, G40, ooo
- "4_')'-' maﬁ sSzSJi@J 6015000 *
5);_aasmaszsfmm4sooo R
6)",-:‘233&0333 dzz;pm 4060000
) -'aaa R 83 aoasao:aow msz;im de. so 000
.'.'8)._:.';':5?,33653 5, 0025, 000 .
9 a:b.radée asaomocs (ezsaz:sass) ao:mowa m 50,000
10) evesd mwaﬁm m 35, ooo o |
| 11) eepdicsadd mazﬁéoda ﬁoedﬁ &eﬁb@mm ﬁ@a@ﬁ goud, ﬁameﬂaf draZ(} 000

12) 0,T030 Aned (wma e:na’dz%) an. is, 000




SRR AT T
Bt

AN

s’oca’aaqaoaaa. |

) ®3mOT wPy,

b) BB 20w K. Boeg

©) WY JPIC [NBO,

36632F320




- R e 36e3um20

Reg No

VI Semester B.Com.3 Degree Exammatlon, September/October 2022

INCOME TAX
Paper -1 :
(Regular/Repeater/Compulsory) =

~ Time: 3 Hours : | e EEE _Maximum'MarksiSO o

o Instructwns to Candtdates.

1) = Attempt all 'Sectiens-according to internal choices.
. ©o208 scdnen 2T, GUZORD. :
2) . Give workmg notes wherever necessary
S UBBOTY, BB ok,
3) Slmple calculator are allowed
| RRRE ?mendeieéao‘ BUHO3RENALIETD. -

SECTI()N—A
_ . ger - & R _
 Answer any Ten of the following. o . (10x2=20)
' - 2JeEons 5&__ TIRen GvZoRd. - - S
1. a) . State the types of Capital gains ?
WOTY YT T FOUNYR) Hewd 27 ' :
b) Give a formula for calculatxon of indexed cost of acquisition of assets '
- gR Doedad Few, o §z§d g TR PoRRFR ERED.
c) What i is the raté of tax deducted at source, in case of lettery income ?
o oRud esmoddd), et FESeeRE eﬁmoda don ©d od.m@do ?
d)  What is mterhead set-off 7 -
. ©030% JooS B3 STt 7
e)’ State the rules of set-off of short term capital losses
TR 0BT HORNTI), BROTIEITI e'oai:d:m:ab Bewod. o
) ‘Write any two donations 100% of which amount is allowed as deductions ws. SOG. '
oo 830G @@w‘o@ Be. 100 duﬂ &335 AR TR oma'é)mdd:a BotroR ciesﬁﬂﬁﬁm '
S w000, \
g) What is the amount of deduction for section SODD purpose ?
sw0 80DD Zwd eﬁwoia WO Heeg R, ? ' :
~h) "Who is an mdlvndual ? R : .
- oaRoRY a&@omﬁdmasm‘? ' . ' Y
i) ~What are the rates of income tax applicable to an 1nd1v1dual whiose age is 68 '

years ?

68 BB, moaceas waﬁ e:amu:noas gort cﬁdm‘&?’n udo:nb

- [RTO.
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.fbr':apsrsn

o po sﬂ»

j)  Who is non working partner ?
| B0FARFIT Doeaessontedd ?

%) What do you mean by tax free commercial securmes ? .

307 W0T Dord, WETY WY nideorvemd ?
1) What is "book proﬁt of a f' irm ?
w PATsenle] NONQ'b @ﬁ% CRBIROTTERD ?

SECT TON-B
. Wt - W _ : :
Answer any Three of the following: (3x5=15) -

AT ] ah:ads gU30RD.

Smt Uma furmshes the followmg details for the previous year ending 31.03.2020
Interest on Central Govt. Securities Rs.18,000

Wlnmng from lotteries (net) Rs.21,000

Interest on debentures of XYZ Ltd Rs.4,500

Dividends from Indian Company Rs.5,000.

Income from non-agricultural land Rs.17, 000

- Compute her income from other sources for the assessment year 2020 21,

31.03.2020 o0l SR iraéﬁxa@éa@d@ éem ppnen faanJ s NS maoéccbéo
Dedzd. : :

a 'ieod pvi it z;d@ —’Sﬁe: W& dun.18, 000

b.  RE0ONITE TEE BTOOD (Eow@é) Tn.21,000

¢. XYZ somdcd ionvnd a:"oeebs wR drd, 500

d md@eodo BOTACLIOW WAELI Jamoé dfa 5,000

e.  Faodess geoocon mE fﬁmo_da dr.17,000 :

3oogdm Wair 2020-21 3 «assc faéd SLONPOT WO Ejmccbaﬁaig{. SeT0.

Shn Sagar submlts the followmg mformatlon pertaining 1o the- previous year 2020-
21.
_ Income from salary Rs.15,00 000
Loss from self occupied property Rs. 1,80, 000
Business loss Rs.5,00,000
Interest from bank Rs.2,50,000
Winning from lotteries (gross) Rs.1,00,000
Compute his gross total income for the assessment year 2021-22
S5 Tae 2020- Zlﬁﬂ TOWOHATOZ H,e TNT 88 TENT maoacmsgt ReRTT.
a =33 o ©r.15,00,000 ' '

b, Rorms sbeed 0 de.1,80,000




c. = S0 TR TR. 5,00, 000

d. moﬁs WA, erecd TR.2,50,000

e.. e:aa,a tsmcda ﬁcﬂrxb (agé,sae) d%.1,00,000

oOF3 mar 2021-22 é ﬁo:\a’dsa BIBT ), wmoﬁoﬁa’a @5 =Ra0.

I
' R AR e o 36622/F220

4. Explain the provisions of the Income Tax Act 1961 in respect of the following
payments. Which are allowable as deduction (any two) :
a  Medical insurance premium u/s 80D. _
b. - Deduction for: interest on higher education w's 80E.
c. Maintenance and Medical treatment of a handicapped dependent u/s 80DD.
323003 o1 FoReR> 1961 T sBohe, L2 FBnSynent NOCD?Q‘D macﬁah ﬁ@a’ﬁra@,qm
'Shodad@a_ﬁ@m:rs:& DWOAT. (eTT @dcﬁai)
a oo 80D o FHmdecdd D Foo.
b.  %wo 80E o ovg@ 430 med E0eds W, 3BT, :
c. - BOO SO-DD 03 EwoNE DILWEST F T seoD w3 TR IVFHR.

5.  Shri Sadashiv has furnished the followmg detaﬂs of his income for the PY 2020-21
Rs.2,00,000 7% capital investment bonds of Government.

Rs.1,60,000 10% Karnataka Government bonds.

Rs.1,44,000 10% tax free commercial securities (Non listed).”

Rs.80,000 18% tax free debentures of 'A’ Ltd. (listed)

Rs.l.O,SOO (Net) winning from lotteries.

o po o

He claims the- following expenses -
. i.  Interest on loan taken for purchasing securities Rs.2,000
. ii.  Collection charges paid to a banker Rs.200 '
iii. Expenses for purchase of lottery tickets Rs.800
iv. Commission paid for purchasing securities Rs.1,000

Compute the income from other sources for the A.Y. 2021-22

smod IRE 2020-21 % RowWoHVTEOZ 8003003 ArIwdE3 a3y 1ST00RT aﬁdmm =T

BN TNRT3.

a  00.2,00,000 7% RCEOE LOERY BRET TOTIED.
8».1,60,000 - 10% Fmoreid KOF0R  MOT, M.

- 00.1,44,000 10% 3ot =0z seedw, BT TP (CROBIHRRYS)

| €0.80,000 18% 'A' OReiES Sori wng WO Tt (ARdeDioreoR)
gR.10,500 (239) b0 RLNOT BReSRTD. '
53300 88 BN DFTOT v38 Remredord TeY moa~m6

o po g

[P.TO.
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L gge SPne Dodr e’ﬁdﬁmozﬁ OT foec‘)ss WR d:az 000

_ii. AN OBt HoSAT Ron, TR aﬁzﬁﬁ@a T%.200

iii. efasaa 38ers  HOeOON =3, 0T 'TR.800 ,

iv. g TP a)&eao:b@ *aaa,od B c’ua 1,000

ﬁmﬁdﬁ ﬁm—- 2021 22 é faéd’e MQJﬁ@ommd (Chnte] tﬂmcmaﬁa‘b 66 m@b

P and Q are the workmg partners in a firm sharmg profits & losses in the ratio 1:1. -

~ Their Capital stood at Rs.1,00,000 each as on 1-4-2019. The P&L Alc. A showed a

net profit of Rs.15,000 for the year ending 31-03-2020, charging the following.
a  Interest on capital : P Rs.14,000 and Q Rs.14,000
b.  Salary on partners : P Rs.50,000 and Q Rs.40,000

o 'Compute the income of the firm for the assessment year 2021-22.

oz P _mag Q z0td aﬁmd oﬁodoe‘j Fo0dF 02 —mmdem ontA) maﬁs*a‘n o
L1 BBneesd, aoassme:osmad amus TREOTITS WO aoaéﬁeé_a P

" 1-4- 2019 doc an.1,00,000° fadJSES 31- 03 2020 § dndireom Y BV ody

dr.15,000 & A3 Sradod F03T' BES. '
a . odmes whed wa 1 P 6e.14,000 2% Q d.14, 000

b enmeds Seds &)@ P ©%.50,000 02 Q tifa40000

'_ soasdzs e 2021-22 docso TRELROF ROFoD TRtI-TRRCNRY som aoeo:ozsesa

SECTIONaC
: Answer any Two of the following: : ' L (2x15=30) .

_ aﬂeaacs adds eVEORD.

. Shri - Joshi has transfered . the followmg capital assets durmg the prevmus year_

2020-21. | .
' Partlculars - : -Residex_}tlal ‘_Non listed Self generat_ed'
_ S House - Shares  Goodwill
a. Sale proceeds of the assets 15,00,000 12,00,0060  3,50,000 -
b Date of sale of assets . 01/07/2020  20/09/2020 01/02/2021
¢. Cost of acquisiion =~ -~ '1,00,000 - 50,000 oo
d. . Year of acquisition R 1990-91 - 2005-06 S
¢. . Fair market value R S
(as on 1/42001) © ~ 100000

‘He purchased a new residential house for Rs.2,00,000 on 15/12/2020. The cost .
inflation index for the financial year 2005-06 ; 117, 2020-21 ; 301, 2001 02 100
- Compute his taxable capital gain for the assessment year 2021_ 22, '
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- W00 wEr 2020-21 de‘) 3¢, Wped wTw é& N ti-aﬁ’%#&b ESHDFOD:JNCTQC?

WIT

~§Jm§ aﬁacaasaow 2008 523
*‘&mf R0 B0
meax:s A
L BDed jﬁz;d(adﬁoi) :
oamm 'anmésﬁ LSS
o (1/4/20016 ’adoé) '

o pe o

A0S =l ainaﬁ samcs

e
- 15,00,000
01/07/2020
©1990-91

1,00,000 -

éeo’orﬁ;b

~12,00,000

20/09/2020
2005-06
50,‘000,

1 00 ,00

Apor
AT
3,50,000

0 1/02/2{)21

a ﬁ)moﬁ 15/12/2020 doﬁo ey ©r.2,00,000 3 @3 afoz&o&raowm ﬁ:ao@cs‘ﬁ &

TReD Rz, o8 5323&5) 31 89nToss. 2005-06 ;

1 17, 2020-21 ;

; 301, 2001-02 ; 100

Ud’)_w [Eone) 2021 22 Se fmﬁdf@ WREE, mwmﬁ IR, 6632336 Wi,

years. .
Particulars

 Income from salary
Loss from SOP
Income from LOP
Loss from business '
Loss from speculation business -
Income from business

- Profit from speculation business
Dividend from co-operative society

__Short term capital loss
Long term capital loss
~Long term capital gain

2018—19 |
20,000
4,000
16,000
16,000

’ 12,000

4,000
4,000

24,000

2019-20

22,000

4,000

24,000
40,000

4,000

12,000

_ _Followmg pamculars of income is prov1ded by MrTeJas for the three assessment

2020-21'

24,000

12,000

12,000

60,000 -

4,000

’8 000

24 000

- From the above mformatlon compute his gross total income for the. three assessment. '

years.

.~ MrTejas =0 s ﬁe:ns S0 $00E0R Smrner ,eouo@&csoé eﬁmcdod Sbdadny

' acamd
Se333 smood |
Roaos Fosod B
AR DI e
| BS=08 3R
R, BRH00 R

-2018-1'9- |
20,000
4,000
16,000
16,000

12,000

4,000

2019-20

22,000

2020-21
24,000 -

12,000

[PTO.
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=, [H0E Soood - - 24,000 12,000
n:ésa ﬁdmdd oy S - 40,000 60,000

- "‘ﬁ@@ raowd CRLIR0D . 4,000 4,000 - 4,000
BRTG WO TR 4,000 - 8,000
BOFFHD WORTY Tol : 24,000 - - o
DEFRD WoRmeY oyl - 12,000 24,000

B3 0rdS TWkoS030T Zoreda 2RT BooEdE STFNY wEd e:scna'baﬁ.g& STZRRO.
X, Y & Z are the partners in a firm sharing profits & losses in the ratio of 2: 2:1.

" The profit and loss account of the ﬁrm for the year ending 31-3-2021 is as follows.

Particulars : Rs. Particulars "Rs.
To General expenses 1,52,000 By Gross profit 4,00,000
_To Interest on capitals at 14% - . o
X . 14,000
Y - . 8,400
Z L o 5,600
To Salary to Y . - 1,20,000
To Commission to Z - 60,000
"To Rent to Z . : 24,000
To Net profit S 16,000 _ : o
o 4,00,000 - . 4 ,00,000

Y and Z are the working partners.

Compute the total mcome of the firm and the taxable income of the three partners

in the firm.

X, Y 0% Z womd Ro3odha, ““womd@ci) 2:2:1 ORTBEY, Ut B HIVIY,

-ﬁoz%&m’oémd 31 3-2021 g ain?mcmmmss JmFE oogd- —ToR 8098 B4 29n=083.

AN o) o o®. T : o gdn.

SR ﬁzsm:b S - 1,52,000 e, ool - 400 000

| poREmng S8 ' _

' u%(é’e.lﬁf% o) o
X 14,000 -

Yy | 8,400
z . 5,600
YR Se3s | 1,20,000
7R sosst 60,000
Zit i o 24,000
R RS B © 16,000 - .
. 4,00,000 T 4,00,000

| Y mne Z @odarads —ammdoaﬁcbaad Tooom0E XoE oda 283, “Um B

=0RTT oA wYmEeS e:s?:3;306353_:;.12t B0TOBRCI0.
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'10. From the following particulars fum1shed by Miss Arohi, compute her total mcome
for the assessment year 2020-21.

“a - Salary (gross) . S Rs.2,50,000 -
b. Directors sitting fees o - Rs.10,000
c. Winning from lotteries ’ : - Rs.1,60,000
d Winnmg from card games ' o Rs.25,000
e. Loss from house property _ 4 . Rs.9,000
f. Factory building with machinery out: - o :
Rent received o - Rs.90,000
Repairs | A 7 Rs.2,000
‘Insurance - SR ' . : “Rs.3,000
Interest paid on loan o _ _‘ L . Rs.5,000
g Sale proceeds of building (purchased ‘ :
: in April 2015 for Rs.15,000) _ , Rs.1,00,000
h.  Investments and payments during the year: ' nn
- National savings certificates (viii) issue ' - . Rs.5,000
- Contribution to public provident fund - ‘Rs.10,000
Donation to temple (unapproved) = - . - Rs.8,000
Donation to family planning programme to : ' }
an approved associations ' _ Rs.2,500
Life insurance premium- pald on her life pollcy _ " Rs.10,000
30080 SR 2020-21 g BRRO eieek 3 FBR AT aﬁd%oﬁaab @F’n@éfq, peon
A0 STRODTI), I m&a - '
a k33 (ué&%) : ‘ o .‘ 8%.2,50,000
b BersT ae _ _ ' - . ©5.10,000
o oubod Agmy . ~ ©».1,00,000
d  |ap sued 1o _ - B - TR.25,000
e I GROD D - " S 899,000
f. adméoﬁ: 5&35@633 do@ﬁ@oixao@ﬁ N~ HE _
TAES Wl : B 7 . T.90,000
TR R . - T»2,000
D5 | | 8».3,000 -
e BT wa . - - dR.5,000
g D& 2015 TG a:)@e@,uci FRIWS &Q@o dn.l15 000 _- :
fadcﬂdab TRool EBRE wod Ssa - , B t».1,00,000
h. wfo:JJS adaurde?ﬂodo BRBE Tonw JOToNL: :
| ToRech> BUPBC Ty (vill) RPOF | : d!a 5,000
| s - " {PTO.
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11.

L

| WBEERE PORT DR DeRT, 0 del10000

Bemowedl Berdrt (R0 éomodao) - 7 ©28,000
ERDOW oaraeué andas“ﬁmii’ mss wzics "oa;;zﬁeséﬂ 6%.2,500
3orimeds wemt 0ed3 e’:}a'a‘o 6033 ' ' ' : dre) 10, 000 N
SECTION-D
apen - B - L
Case study: (Compulsory) . | o _ - '(1.‘x15=15)

ﬁﬁdsa eﬂtﬁ ol smojo B3. - - _
'fhe gross total 1nc0me of Shl'l pandurang was Rs.10,00,000 for the prevxous year__' =

‘ending 31-03-2020 and the following are the donations made by hzm
&) Donation to Jawaharlal Memorial Fund Rs.40, 000 ‘

b) Donation to corporation of minority community Rs.40, 000 -

- ¢) Donation to a munlmpahty for promoting family planmng Rs 60 000 .
~d) Donation to charitable trust (approved) Rs.20,000" - : o
~'e)- Books donated to an approved college Rs.10,000

The gross total mcome of Shri Pandurang includes 1ong term caﬁltal gam Rs 20 000
Case study:

The assessee seeks your advise on the computation of deductlon allowablc under,' '
section 80G ‘in the above case and also your suggestions for donations from which. =

maximum amount of deduction can be claxmed from the gross total income (lee any
five examples of such donations). '

© 31-03-2020 § FwPDREWE LD T 8¢ BTN Esmodo@ d.10,00,000
ATIL. 50> g NS desﬁﬁo‘bﬁa S

a) uma’dow BB :at;ﬁ deséﬁ 8r.40, 000
b) ©o Foww 3o aﬁﬁ:ﬁ’ Bednt ©.40,000
c) ﬁsaaoow o&raeua?mﬁ Srfd'”zjﬁ Seednt ©r.60,000

~d) TDOEICON WT00T 25083 Noﬁﬁ oessny (a‘.ﬁaﬁé afaobd) on. 20 000

e} [ng3 wcécs Fe3nt ﬁoqﬁﬁqﬁ BerdR de.10, 000
*aoz.?ao’oﬁdadd u&&a e:scmcﬁad@ wocémﬁﬁci TorFecd Wr.20,000 Nea’dommﬁ

| 80 e abs:

doo 80G w©@obd, ﬁ’@Sﬁ‘ eiﬁ amfoa 3%06 mjéodaab éaﬁméaﬁ: i:ae&mz&

- RoedzPriverie- Ked-wied o:baas des‘éﬁ@éab QBT riaa:i sasmab zuw e;rmocbd@ B

z;ﬁ"ouocﬁab ée@a ma: e&oéﬁ m@mddm mcﬁ) deséﬁﬁ#a‘b @*‘m :
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Reg. No.

VI Semester B.Com. 3 Degree Examination, September/()ctdbe'r - 2022

INDIAN FINANCIAL SERVICES
- Paper - 111 (Elective)
(Regular/Repeaters)

Time : 3 Hours ' | | o o Maximum Marks : 80

Instrubtions fo Candidates:

1)  Attempt all Sections accerding to internal choice.
50308 woen LI, 96, DERRNVEY CIORD.
-2) Use of simple calculator is allowed.
ROERE, T, ot 2ITRLTOT.

B 2) © Question No.11 (case study) is compuisory.

©3 Foaj, 11 (T30 DFeRT) FrORTNT.

SECTION-A
Rt - @

Answer any Ten of the following questions. : : (10x2=20)

1. a)
b)
c)

d)

NS Bewn TR FIN9R €03dR0.

Define Financial Services.

Beosors Fesng mﬁéjé- 28O0,

‘State any two features of financial services. =
Reatord AeSHY CIRRTREER SUR VLIVEY I9AD.

What is loan syndication ? -
ROVT 3oL T3F QOTWTeD ?

State any two public Sector merchanf banks.

| AR wAE iﬁ%d-adcﬁa [IEE LI, ORNTIY ZH0AD.

" What is Domestic Lease ?

Bedad rerd onded ?

[P.T.O.
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fy State any two features of lease.
ecdod aua> ogETYRy BECND.
g) What is factoring ?
' R, 800N 2087,
h) What is dematerialisation 7
ey Pee30D DTV 7
f) What is credit rating ?
. B33 Beed w0uded ?

i)  What is online trading’?

e303TLPO a’;&m?&o DOTITESD ?
k) What is meant by Rematerilisation ?

S0 FReETTE HoTTE> 2
[) Expand; i) NSDL ii) CRISIL

£Z0A WICWD : 1) aa‘ R B2 i) 2.630°.20.0%°. 0.0,

| SECFION-B |
&)t;ari - W

Answer any Three of the following questions . ) ‘ (3X5=15)‘
Sng Bemd Sopdd BInenR «U30R0. -

Briefly expiain the features of financial services.

. Temas And oﬁwﬁej:n Noﬁwmﬁ DTOXD.

: Dlstmgulsh between financial lease and operating lease

asasafu TReed 3D FOIF NS BETO ﬁesé caaé;ﬁ@é I SA I Nﬁq:fm DTDAO.
Briefly explain the process of dematerilisation.

esrP3eagens ©8,0000008), KodTeoN DTORD.

Explain in brief the conditions requlred for reglstratxon of Merchant Banks.

[ 23, 08N Zreonednt eng ot eaoeiﬁe;éod D30,
_ Br1eﬂy explain the credit rating process..
ESBES EE‘QOE‘JO w%o:bcdmo Rogedeson DeSDRD.
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I1.

 SECTION-C
azpari - ¥

Answer any Two of the following questions. o (2x15=30)

FBATIEE, Pl OB - ﬁﬁ@ﬁ em@ﬁb&b
What is financial service ? Explam varlous types of financial services..
Brsrons HesSndd S0TCeRD 7 BeoToAs BeSY DOG T,OORYEY DFORO.

- Define Merchant banking. Explain the ébjeétives and functions of merchant banks.

=3 moﬁs m:ﬂ 233000. sy mdwm&b O ﬁaodj'rr{@ém STDAD.
Define lease. Explam the advantages and dlsadvantagf:s of leasmg
Regdodd msﬁ W30, TT SRIBRUIRH recel @mﬁaﬁm@émm aaﬂma

~ What is factormg ? Explain its merits and demerits.

P, 800N° QOTBED 7 OTT TORIBIONTI, DTORD.

SECI'IONJ)
dpnt - B _ ,
Case Study (Compulsory Question) o (1.><15=15)_

809 Pl ot (%’mo’b a‘jé’)

M/s Prasad Leasing Co. Ltd is considering a lease proposal to M/s Sagar Co Ltd.
the terms of agreement between them provide the following details.
The cost of the machine Rs.20,00,000

Life of the machine 5 years

Salvage value Rs. 2,00,000

Average cost of Capital 15% p.a.

Tax cancession by the govemment @10% of lease cost.

Lease amount at the end of each year Rs.7,00,000 for 5 years.
Tax rate apphcable is 50%

Depreciation @ 20% p.a. on reducing - balance method.

The P.V. factor @ 0.15 %

1# year - 0.86957,

2% year - 0.75614

3 Year - 0.65752 ,

4% Year - 0.57175

5% year - 0.49718

You are required to calculate P. V. of cash mﬂows and advise the lessor whether,

lease proposal is profitable.

[P.T.O.
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2. B Seart 30. RCHNE TR . TRD 0. Qo003 amdn _e:ﬁd t-s,?iodaég{
riers CREEG 2R 59BN wodd. BWoNT @, HFFREIS rerd FTIOT W0, 0T
o FUNT0SS. , '
e:&édd;) ﬁi‘ae)zs@ 'T».20,00,000

es3oh BeaTRO 5 BT

oD BedToRHod S03T wued wPY, dr.2,00, 000
AOIRD  WOTTIT - 13, 3@ 15 WHEFg, RTTTDT necdTan - Seate lﬂd aon
WTO0WE, :
TS TJED BRJIN 00 m‘;ﬁmdﬁ [ewE weln Tr.7,00,000

Rerdeg sowdody Je3@ 50 Tod 3on —maﬂoéd '

| ‘ 7iecdtinT BOTROIN VPE aﬁaw 2303 Jesd 200 ©oTod ‘ﬁé@odoab é‘ﬁod:aéﬁ
Zes@ 15 O R0 ddcﬂoé ge.l © Nzﬁ o] aﬁa’ao@ B %’@‘ﬁﬁoazﬁ
13 ﬁmr - 0.86957,

23¢ JAF - 0.75614,
38¢ = - 0.65752,
4z SRe - 0.57175,
53¢ =™=mF - 0.49718 : : - |
& om, SRtschy sEee, TRG LWEORS GT IPGTR, FEIAWTIC
B3R e:??jod::a"gt ferd CRATTEE, R GLIEI0RTRE @owtﬁﬁ% AR20.

t
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VI Semester B.Com. 3 Degree Examination, September/()etober - 2021/2022 '

. Time :

Reg. No,

ECONOMICS
Indian Economlc_s
(Repeater/Regular)

3H0urs‘ - o Maximum Marks : 80 -

Instmctmns ) Candrdates

1) All sub questlons should be answered contmuously at onc place.

| Quote facts & figures to support your answer., : _
DY, emﬁﬁ gnent wodde 3ER wUET 2280000 eﬁass 7 903 eosﬁﬁmo@ﬁ |
) ema‘dﬁ»éab ‘”m&‘)n@

2) | Answer to all sections should he written in the same answer book
Y, MRANY VTR, wode eVZT FE,FaDY, WIcWD,

- SECTION-A
NMFPN - ©

~ Answer any Ten questions of the followmg in 2-3 sentences each. (IOXZ——ZO)
3INT devor T [INOR I cdraodar\ 2-3 DRENIY, em:a’ﬁn;ﬁ

1L a)

b)’
¢)

@

Mentlon two features of developed economy.
wzpag)&c); FBodTs ezﬁrﬁﬁfﬂ@ QT oisari@éﬁg{ 321,
What do you mean by primary sector ?

T, FO0T BUah 20E3RD 2

What is National Income ?

oae%ewa ﬁdmﬁ 20TBead ?

Calculate D.P.L from the following data.

NG ©08-e0and Fmehnod DRI somiRae.
Persanal Income = RS.S_0,000

Bebys =R = 99.50,000
" Direct taxes = Rs.5,000

30 Forned = 09.5,000 .
| ' [P.T.O.
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e) State any two causes for slow growth of Natlonal Income o
| ocogpod emeoha mozsnaodo RS 20 ﬁadsaﬂeézdo ae;:,o
f) Whatis sex-ratio 7
. '-d)omaﬁr?é @oddem ?

" g)  Expand GDP. )

. GDP ot 2RO80.

k) What is inflation ?

| osmAte SoEted 7

i)  What is REPO rate ?
_ . tﬁ@’\-}ﬁd QOTR T

) ._1-"Whn is thc Dep\lty Chamnan of NITI Commlssmn ?
_— CRed esoimﬁd enmtﬁﬁd} oy 2 '
k) - What is Black Money 7
3, B Qogded 2 |
1) When GST introduced in India ? o
© GST oby 080, abn OrReReRcE 7

| | - SECTION-B
. . ogpnt - W | -
© Answer any Three of the following: R ¢ )

NG demn Swdd BINR eog020.
~ Explain the methods of 1 measuring National Income
 Dagygod eﬁmcﬁaﬁm S everin) amﬁﬁ#&o «Dﬁé»@
Explain the structure of the Indian Economy.
Rusa eErEETeD SudoRy OO,
Explain the causes of Unemployment in India. -
wR0ne, adde e Uy SI0M0.
Examine the monetary pohcy of RBIL. _
Lo08ecD> DWRF Wy 085 BTN E’O&soﬁ:o w@ét‘@f@
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10.

Calculate the CPIN by using beiow data.
FONT ©od fuoaS mf %oda@ocﬁ w,&EE0’ zé’eﬁ ,uazs o8 dzsrqb
- Commodity - o ' Base year price
: . : :.-'(in Rs.) |
TaRne L 2nee S1FG g
| | | (8R.7¥S)
Rice - - _ : - - 20
ﬁjéﬁ o o o
Cloth-- T S e300
- Sugar - - o 10 .
__#‘B;d.- o . ) - SN .
Rent - T T 1000
| 'm‘@ﬁ"_' | _ | ._ o
. Education B - 2000
SECTION-C
- oert - LE
- Answer any Two of the followmg |
éﬁ#ﬁé weead addi emsansﬁ
Dlscuss the main characteristics of Indlan Economy.
-md@ﬁ 6@5&-‘55555‘;033 e00D egsarieja:_gt 2337 R0.
Explain about population explosion in India.
0T, o, KR WO TORD.
Explain the functions of RBL
e30°.00.e903F, FS ﬁaodas:'ﬁ%?ab DTOXD: _
Explain the sources of Central Government Revenue

. $20T, APFTS CmROLT BAwenvay, AEORO.

- 36624/F240

Current year price

(in Rs.)
a_) SRG 3
(G.Rwe)
60
120
30 -
3000

8000

| (2x15=30)

[P.T.O.
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1L

SECTION-D
. PN - B _ .
Case let : - o | ‘_ o (1x15=15)
43-03, 70 | . | a

Ind1as population has grown at the rate of 1.76 percent per annum. India is the
second largest country in terms of population next only to China. The of population
has slowed down the rise in PCI. Population Policy has not curbed the growth. India’
continte to face the problem of populatmn India has 2.5% of World's land area and
17.4% of the World' population. S

Questions:

. a) Is population an obstacle to growth ?
‘b))  What is the pos1t1on of Indla in terms of population 7.

c) 'What are the causes for rapid growth of Populatlon ?
d) What is the proportion of World's populatmn lives in India ?

PTIT umoaiom moaFrdwen 3. 1.76 O wodd) P wemw 'ai)éuz:? md@df_ .

T 093 o, @dwﬁcﬁa cireté @w Zew SOBNIT eIng R zzs 083, 030¢
F2U0. asé osua ~edodn uwfooaj zﬁ#ﬁs@ﬁaﬁ:ﬁ: ARFOd TRBY,. PoUSR) zsaﬁ*’oar

jﬁmﬂéoﬁ@i ammddmﬁraom aci_)a*:o S$3. md*@ mﬁéﬁ weaoeld, 2.5% :Saeb

wndS wIR0ad o, 17.4% O, woen BRDT.
B Re: : |

a) UYSeIiA wIzosd oo erBEe ?

b) w030 WFRRTY, YRUSE M 9, ?

©)  wERoa 0 36, Wedzmednin ﬁadsaﬁ%ai:s} 9

d) =nés z;:mocm 3,300, mdézﬁe‘) mmnaiﬁo’ meaﬁw ?




R T 36661/F610

Reg. No.

VI Semester B.Com. Degree Examination, September/October - 2022

ADVANCED BUSINESS STATISTICS

Paper - I1I
(Repeater/Regular)
Time : 3 Hours Maximum Marks : 80
Instructions to Candidates: 1. Simple calculator is allowed.
2. Tables are supplied on request.

3. Working steps should be clearly mentioned.

SECTION-A
1. Answer any Ten questions. _(10>< 2=20)
a)  Write the general form of L.P.P.
b)  Define feasible solution and optimum solution in L.P.P.
¢)  Whatis balanced transportation problem.
d)  What do you mean by degenerate and Non - degenerate solution im T.P.
e) Distinguish between pure and mixed strategy in game theory.
f)  Define two person zero sum game.
g) Doesthe game [_21 152} have saddle point?
h)  What is the optimum solution in assignment problem?
1)  What are the needs for replacement of equipments?
i) Mention the variables in inventory problem, when shortages is allowed.
k)  Mention two uses of inventory.
1)  Define lead time and time horizon in inventory.

[P.T.O.
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Answer any Three of the following.

ION-B

36661/F610

(3x5=15)

2. Find initial basic feasible solution to the following transporation problem by North - West

corner rule method :
Destinations Available
D D D,

O |6 8 4 120
Origin 0, | 4 9 3 200

o, |1 2 6 300

O, |5 7 2 80

Demand | 280 320 100

3.  For the following two person zero sum game; write down the solution to the game. Is the
fair game?

Player B

Bl
A 4 2 0 5
Player A | A, -1 -2 0 -3
A3 1 300
4.  The demand for an items is 1800 per year. The inventory holding cost is Rs. 12 per year.

The ordering cost is Rs. 400. Shortage are not allowed. Replenishment is instantaneous.
Determine Economic order quantity and annual average inventory cost.

5. Define the terms :
a) Carrying cost.
b)  Set up cost,
c) Shortage cost.
6. Solve the following assignment problems in order to minimise the total cost :

Man
M! MZ M3 M4
I, 12 30 21 15
Job | ], 18 33 09 31
I, 44 25 24 21
I, 23 30 28 14




10.

Answer any Two questions.

a)
b)

3) 36661/F610
SECTION-C

(2x15=30)
3)

A contractor requires 1000 bags cement every month. Cement costs. Rs. 300 per bag.
Ordering cost is Rs. 280 per order. Shortage cost is 50 per bage per month. If inventory
maintanance cost is 15% of capital invested per year. Suggest the optimal purchase

What is meant by equipment, which deteriorate with age? Give one example.

schedule. (12)
Find the feasible solution to the following transporation problem by
a). Matrix - Minima method.
b)  Vogel’s Approximation method.
Destinations
D, D, D, D, Available
0, 4 3 0 5 240
0, 1 2 6 1 170
Origin 0, 3 6 2 3 190
Demand 150 190 180 80
Then find total transporation cost and comment. (15)
a)  Explain minimax and maximin principles of a game. (5)
b)  Solve the following game by Dominance rule. (10)
B, B, B, B,
A |1 7 3 4
A 5 6 4 5
A |7 2 0 3
a)  Write the mathematical formulation of a transporation problem. (5)
b} A firm is considering the replacement of a machine, whose cost price is Rs. 12,800.

and the scrap value is 300.

Years 1 2 3 4 5 6 7 8

maintenance cost | 100 | 300 | 500 | 800 | 1500 2400 | 3200 | 4100

(10)
[P.T.O.
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11.

SECTION-D
Case - Study (Compulsory) (1x15=15)

A company manufactures two varieties A and B of pens. Each ‘A’ Variety pen needs 2 hours
labour. Each ‘B’ variety pen needs 1 hour labour Total labour available is 500 hours per
month. The demand for * A’ variety pens is 180 per month. The demand for ‘B’ variety pens is
250 per month. The profits that the two varieties fetch are Rs. 8/- and 5/- per pen, respectively.

Formulate an linear programming problem and solve it by graphical method.
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VI Semester B.Com. Degree Examination, September/October - 2022
ADVANCED BUSINESS STATISTICS

Paper - IV
(Repeater/Regular)
Time : 3 Hours Maximum Marks : 80
Instructions to Candidates : 1. Simple calculator is allowed.
2. Tables are supplied on request.

3. Working steps should be clearly mentioned.

SECTION -A
1. Answer any Ten questions. (10x2=20)

a. Define demography.

b. Compare crude Birth rate and crude Death rate.
¢.  Mention different measurement of fertility rates.
d.  Detfine stratified random sampling.

e.  Define population and sample.

f.  Write two uses of index number.

g.  What do you mean by price index number?

h.  Define statistical quality control.

i.  Distinguish between defectives and defects.
j.  If ¢ =1.2. Find control limits of C - chart.

k. Define index number.

1. Price index number for current year is 125, what is your conclusion?

[P.T.O.
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SECTION - B
Answer any Three questions. (3x5=15)
2. Define price index number. Write down its uses.
3. Calculate cost of living index number to the following data.

Current year Base year
Item Price Quantity Price
Maize 20 100 15
Corn 21 50 17
Bread 10 50 10
Wheat 12 150 7
Others 24 25 19

4., Inacommunity, in a specific year, 5200 live births occured. The number of Infant deaths,
during this year was 230 - In the case 42 of the above 5200 births, the mother died due to
child birth, compute Infant Mortality Rate (IMR), and the Maternal Mortality Rate (MMR).

5.  Explain in brief simple Random Sampling method.
6. Draw a suitable control chart for the following data and give the conclusion.
Sample No : | 2 3 4 5 6 7 8

No. of defects: | 10 | 12 [ 14 12 13 13 11 14

SECTION - C
Answer any Two of the following. (2x15=30)

7. a. Define time reversal test. Show that Fisher Index number satisfy time reversal test.
(5

b. Compute standardized death rate in two cities from the following data and find out
which city is healthy? Assuming population on city A has been taken as standard.(10)

Age {in years) City A City B
Population Deaths Population Deaths
Under “5 16000 176 5000 130
5-40 50000 260 27000 162
40-70 120000 | 840 62000 527
70 and above 14000 910 6000 420




-
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8. a. Inaclass there are 102 students with roll number from 1 to 102. It is desired to take
sample of 10 students. Use the systematic sampling method to determine the samples.
&)
b.  From the following data, calculate gross reproductive rate and net reproductive
rate. If the sex ratio being male to female is 52:48. (10)
Age groups No. of children born (1000 women) Mortality Rate
16-20 200 120
21-25 1500 180
26-30 2000 150
31-35 800 200
36-40 500 220
41-45 200 230
46-50 100 250
9. a  Define vital statistics, mention the uses of vital statistics. N
b. | Items Food Cloth Rent Fuel Others
% Expenses | 42 25 14 06 13
Indices. 125 95 100 80 90
Calculate cost of living index number to the above data. 8)
10. For the following data calculate, (15)
a) Lasperey’s price index Number.
b)  Paaschey’s Price index Number.
¢) Marshal - Edgeworth price index number.
d) Fisher price index number.
[tems Base Year Current year
Price Expenditure Price Expenditure
A 30 180 50 250
B 10 100 30 180
C 20 100 10 120
D 50 200 60 240

[P.T.O.
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SECTION -D

)

Case - Study (Compulsory)

36662/F620

(1x15=15)

Construct y - chart and R- chart for the following data and state your conclusion.

Sample No. Sample values
1 8 7 12 11 14
2 9 8 13 14 15
3 9 9 14 15 16
4 10 10 16 10 12
5 16 11 10 11 13
6 12 15 12 12 14
7 13 16 11 13 15
8 15 17 12 15 12

(Given, forn=5,A,=0.58,D,=0,D,=2.12)




